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1)

2)

Write the sum S, difference D, product P, and quotient Q

of each of the following pairs of numbers:

a) 54 +18= 72
54 -18= 36
54 x18 = 972
54 +18= 3

b) 4+0= 4
4-0= 4
4x0= 0
4+0= undefined

c) 0+4= 4
0-4= -4
Ox4= 0
0+-4= 0

Perform the indicated operations:

a)  38+57=
b)  57+38=

c) 15+(33+8)=

d  (15+33)+8=

e)  (23+64)-(41+12)=

f) 12x8=

g) 8xl12=

h)y  6(4x8)=

i) (6x48B=

i) 42 x 68 =

k)  1296-36=

N (35-23)(28+17) _
43-25

m) 45:15+84:12=

n) 10+5-4+2+15+3+2x5=
0) 112:(4x7)=

p)  (112+4)x7=

15+3x2

a) 9-4+:2
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d)

12 +24 =
12-24=
12x 24 =
12 +24=

50+75=
50-75=
50x 75 =
50+75=

Key

36

=12

288

0.5000

125

=25

3750

0.6667

95

95

56

56

34

96

96

192

192

2856

36

30

10

15

196
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3) Arrange each of the following groups of real numbers
in ascending order of magnitude from lowest to highest:
a) —~3, -2, \J6, -28, 4, 7/2
-28, -2, -3, 6, 7/2, 4
-2.80,-2.00, -1.73, 2.45, 3.50, 4.00
b) 2z, -6, 8, —37, 48, 19/3
~37, -6, 8, 48, 2z, 19/3
-9.42,-6.00, 2.83, 4.80, 6.28, 6.33
4) Evaluate:
a) 6+5= a) 11
b) (-4)+3= b) _1
c) -8+4 = C) =4
d  (-18)+(-3)+22= d) 1
e) —(-16)-(-12)+(-5)-15= e) 8
5) Write the sum S, difference D, product P, and quotient Q
of each of the following pairs of numbers:
a) 12+4 = 16 d) 0+-4= =4
12-4= 8 0--4= 4
12x4 = 48 Ox-4 = 0
12+4 = 3 0+—4 = 0
by -6+3= ___-9 e) 3+-2= 1
-6--3= -3 3--2= 5
—6x-3= 18 3Ix-2 = -6
-6+38=  __ 2 3:+-2= —1.5000
C) -8+4= =4
-8-4= =12
—8x4 = =32

-8+4= =2
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6)

7

Convert each of the following fractions into an equivalent fraction
having the indicated denominator and write the numerator in the blank:

?
5 15
—4 9

28
?

[EY

4

[EY
(o]
(@]

Write the sum S, difference D, product P, and quotient Q

of each of the following pairs of rational numbers:

a)

b)

d)

1/4+3/8 =
1/4-3/8 =
1/4x3/8 =
1/4+3/8 =

1/3+2/5=
1/3-2/5=
1/3x2/5=
1/3+2/5=

-4+2/3=
—-4-2/3=
—-4x2/3=
-4+2/3=

-2/3+-3/2=
-2/3--3/2=
—2/3x-3/2 =
-2/3+-3/2=

5/12+-10/3 =
5/12--10/3 =
5/12x-10/3 =
5/12+-10/3=
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Key

— ?
O_7 a0
3 42
?
n_7 121
12 132
?
v_z 85
18 90
a) _5/8 06250
1/8__-0.1250
3/320.0938
21306667
b)  11/15 0.7333
-1/15_-0.0667
2/15_0.1333
5/6 _ 0.8333
c) -10/3 -3.3333
[14/3_-4.6667
8/3_2.6667
6___-6.0000
d)  -13/6 -2.1667
5/6__0.8333
1__1.0000
4/9__0.4444
e)  :35/12 -2.9167

15/4

3.7500

-25/18 -1.3889

-1/8

-0.1250
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